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QUESTION 1

Which two are prerequisites for performing Flashback Transaction?

A. Fast Recovery Area must be enabled for the database

B. The EXECUTE privilege must be granted to a user on the DBMS_FLASHBACK package.
C. Undo retention guarantee must be configured for the database.

D. A supplemental log must be enabled for the primary key.

E. A supplemental log must be enabled for the primary key.

Correct Answer: BD

QUESTION 2

Which three resources are always shared among CDB$ROOT and pluggable databases (PDBs)? (Choose three.)
A. the data dictionary in CDB$SROOT

B. temporary tablespaces

C. the Process Monitor Process (PMON)

D. SYSAUX tablespaces

E. the log writer process (LGWR)

F. undo tablespaces

Correct Answer: ACE

QUESTION 3

Examine this output of an export from the current release of an Oracle multitenant database: $ sqglplus system/oracle .
SQL> col name for a10 SQL> select name, open_mode from v$pdbs; NAME OPEN_MODE

PDB$SEED READ ONLY PDB1 READ WRITE PDB2 MOUNTED SQL> exit Next you
execute: $ expdp system/oracle full=y

What is the outcome?
A. It fails because Data Pump cannot be container.
B. It creates a full export of the root

C. It creates a full export of the root

Latest 120-083 Dumps | 120-083 Study Guide | 120-083 Braindumps 2/4


https://www.pass4itsure.com/1z0-083.html
https://www.pass4itsure.com/1z0-083.html
https://www.pass4itsure.com/1z0-083.html

VCE & PDF https://www.pass4itsure.com/1z0-083.html
a 2024 Latest passditsure 170-083 PDF and VCE dumps Download
== / PassditSure.com

D. It creates a full export of only the used while connected to the root container and PDB1. container and all PDBs.
container and all open PDBs. root container.

Correct Answer: A

QUESTION 4

While backing up to an SBT channel, you determine that the read phase of your compressed Recovery Manager
(RMAN) incremental level 0 backup is a bottleneck.

FORCE LOGGING is enabled for the database.

Which two could improve read performance? (Choose two.)

A. Increase the size of tape /O buffers.

B. Disable FORCE LOGGING for the database.

C. Increase the size of the database buffer cache.

D. Enable asynchronous disk 1/0.

E. Increase the level of RMAN multiplexing.

Correct Answer: DE

In RMAN operation, asynchronous Disk I/O is always better than synchronous 1/O as a server process can begin an /O

and then perform other work while waiting for the 1/0 to complete. On operating systems that do not support native
asynchronous I/O, the database can simulate it with special I/O slave processes (DBWR_IO_SLAVES)

QUESTION 5

Which three are true about patchsets? (Choose three.)

A. They can be applied in a rolling fashion for Clusterware and the databases.
B. They can introduce new features.

C. They are installed via OPatch or OPatchAuto.

D. Installing a patchset is considered an "upgrade”.

E. They are only released quarterly.

F. A base release is not needed to install patchsets.

Correct Answer: BDF

BDF

A. They can be applied in a rolling fashion for Clusterware and the databases.

False - Can be applied rolling for clusterware only, because that\\'s the only one we have multiple environments. Not for
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databases.

B. They can introduce new features.

Correct

C. They are installed via OPatch or OPatchAuto.

False - We can install via the OUI, the Oracle Universal Installer

D. Installing a patchset is considered an upgrade.

Correct - We can install via the OUI, the Oracle Universal Installer, considered an upgrade for that.
E. They are only released quarterly.

False - Its about PSU . They are released quarterly. Apply it on top of any given patch set. So they are cumulative
patches.

F. A base release is not needed to install patchsets.

Correct - Full releases start with 11g R2. Don\\'t carry a base release
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